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QUESTION 1

Which option lists Virtual Cloud Networks (VCNs) that can be peered? 

A. VCN A (172.16.0.0/24) and VCN B (172.16.0.0/28) 

B. VCN A (10.0.0.0/16) and VCN B (10.1.0.0/16) 

C. VCN A (10.0.2.0/16) and VCN B (10.0.2.0/25) 

D. VCN A (10.0.0.0/16) and VCN B (10.0.16.0/24) 

Correct Answer: B 

 

QUESTION 2

Which statement is true about Oracle Cloud Infrastructure Object Storage Service? 

A. An Archive Object Storage tier bucket can be upgraded to the Standard Object Storage tier. 

B. You cannot directly download an object from an Archive Object Storage bucket. 

C. An existing Standard Object Storage tier bucket can be downgraded to the Archive Object Storage tier. 

D. Data retrieval in Archive Object Storage is instantaneous. 

Correct Answer: B 

 

QUESTION 3

When creating a subnet, one or more placeholder security lists are often associated with the subnet. Why? 

A. Each operator needs its own security list. 

B. Each protocol needs its own security list. 

C. Each network endpoint or instance in the subnet needs its own security list. 

D. It is not possible to add or remove security lists after a subnet is created. 

Correct Answer: C 

 

References: https://docs.cloud.oracle.com/iaas/Content/Network/Concepts/securitylists.htm?tocpath=Services %
7CNetworking%7CAccess%20and%20Security%7C_____3 

 

QUESTION 4
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Which two statements are true about the Oracle Cloud Infrastructure Object Storage Service? (Choose two.) 

A. It provides higher IOPS than Block Storage. 

B. It can be directly attached or detached from a compute instance. 

C. Data is stored redundantly only in a single AD. 

D. Data is stored redundantly across multiple availability domains (ADs) in a multi-AD region. 

E. It provides strong consistency. 

Correct Answer: DE 

STRONG CONSISTENCY When a read request is made, Object Storage always serves the most recent copy of the
data that was written to the system. DURABILITY Object Storage is a regional service. Data is stored redundantly
across multiple storage servers. Object Storage actively monitors data integrity using checksums and automatically
detects and repairs corrupt data. Object Storage actively monitors and ensures data redundancy. If a redundancy loss is
detected, Object Storage automatically creates more data copies. For more details about Object Storage durability, see
the Oracle Cloud Infrastructure Object Storage FAQ. CUSTOM METADATA You can define your own extensive
metadata as key-value pairs for any purpose. For example, you can create descriptive tags for objects, retrieve those
tags, and sort through the data. You can assign custom metadata to objects and buckets using the Oracle Cloud
Infrastructure CLI or SDK. See Software Development Kits and Command Line Interface for details. ENCRYPTION
Object Storage employs 256-bit Advanced Encryption Standard (AES-256) to encrypt object data on the server. Each
object is encrypted with its own key. Data encryption keys are encrypted with a master encryption key that is frequently
rotated. Encryption is enabled by default and cannot be turned off. 

 

QUESTION 5

Which three must be configured for a load balancer to accept incoming traffic? (Choose two.) 

A. a listener 

B. a back-end server 

C. a back end set 

D. a security list that is open on a listener port 

E. a certificate 

Correct Answer: ABC 

https://docs.cloud.oracle.com/iaas/Content/Balance/Tasks/managingloadbalancer.htm?tocpath=Ser vices
%7CLoad%20Balancing%7C_____5 The essential components for load balancing include: ?A load balancer with pre-
provisioned bandwidth. ?A backend set with a health check policy. See Managing Backend Sets. ?Backend servers for
your backend set. See Managing Backend Servers. ?One or more listeners . See Managing Load Balancer Listeners.
?Load balancer subnet security rules to allow the intended traffic. To learn more about these rules, see Security Rules.
?Optionally, you can associate your listeners with SSL server certificate bundles to manage how your system handles
SSL traffic. See Managing SSL Certificates 
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